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QUESTION 1
Which three options define Locations?

A. Location information is entered only once. Subsequently, when setting up workforce structures the location is
selected from a list.

B. Locations that are created can be represented on a map for easier identification and access.
C. A location identifies the physical addresses of a workforce structure, such as a department.
D. Locations that are created can be represented as a tree and can be used in the security profile.

Correct Answer: ABC

QUESTION 2

Which employment actions can a Line Manager perform through the Smart Navigation icon within the Directory search
results, organization chart, or while viewing the public spotlight page of their direct reports?

A. Promote, Transfer, Terminate, Location change, Manager change, and Add Additional Assignment.

B. Promote, Transfer, Terminate, Location change, Create Work Relationship, and Add Additional Assignment.
C. Promote, Transfer, Terminate, Location change, Manager change, and Working Hours change.

D. Promote, Suspend, Terminate, Location change, Manager change, and Add Additional Assignment.

Correct Answer: B

QUESTION 3

An organization is running a fitness program. They want to identify a Fithess Representative who will be responsible for
a group of people in the organization. How should you set this up?

A. Create a new job Fitness Representative and associate that to the person.
B. Define the person\\'s area of responsibility to reflect Fitness Representative.
C. Deploy a Descriptive Flexfield to capture the information.

D. Deploy a Key Flexfield to capture the information.

Correct Answer: B

QUESTION 4

An employee\\'s job description is "Recruiter" as of 01-Jan-2015. This job was updated in the system to "Consultant" on
01-Feb-2015. The 01-Feb-2015 assignment record is the latest effective dated employment record in the system. On
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01-Mar-2015, the HR specialist wants to view this employee\\'s previous employment details and searches for them on
the Person Management page. The HR specialist enters the effective as-of date value as 31-Jan-2015 with the search
keyword "Recruiter" because the employee was working as a recruiter on 31st Jan 2015. The search returns no rows.

What is causing this?

A. The Person Management page search does not support Job attribute keywords.

B. The Update Person Search Keyword process has associated the effective dates with the job attributes in the keyword
record resulting in search discrepancies.

C. The Update Person Search keyword process has failed on 31-Jan-2015 but ran successfully the next day.
D. The Person Management page search does not support date-effective keywords.

E. The Update Person Search Keyword process has updated the latest effective dated job attribute in the keyword
record.

F. The Update Person Search keyword process has failed on 01-Mar-2015 but ran successfully the previous day.

Correct Answer: E

QUESTION 5

Your customer wants to know how many employees are leaving the organization on their own. Identify the correct
sequence of steps that you need to perform to meet his requirement.

A. Create a new action > Create a new reason and use it during termination.

B. Create a new action type > Create a new action > Create a new action reason and use it during termination.
C. Create a new action reason and associate it with the available action type. Use it during termination.

D. Create a new action type > Create a hew action reason and use it during termination.

E. Create a new action > Associate it with an existing action type > Create a new action reason and use it during
termination.

Correct Answer: C

QUESTION 6

As the Workflow Administrator you are responsible for ensuring that approval workflows are handled in a
timely basis.

If you notice that there are outstanding notifications, what action can you take to move the approval along?
A. Deny the workflow on behalf of the assigned Approver.

B. Approve the workflow on behalf of the assigned Approver.

C. Push back the workflow to another Approver.
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D. Reassign the workflow to another Approver.

Correct Answer: D

QUESTION 7

A human resource specialist is promoting an employee. While promoting an employee, the human resource specialist is
required to enter the promotion date, promotion action, and promotion reason. However, the promotion reason list of
values does not list an appropriate reason. Select the two options that would help the human resource specialist
understand the Action framework available in the application. (Choose two.)

A. Action Reasons are seeded and can be defined by a user.

B. Action Reasons are seeded and cannot be defined by a user.

C. Actions are seeded and cannot be defined by a user.

D. Action Types are seeded and cannot be defined by a user.

Correct Answer:. AD

QUESTION 8

As an Oracle Global Human Resources Cloud implementation consultant, you are configuring an enterprise structure for
an organization that has undergone major restructuring. The client wants you to make multiple versions of the enterprise
structure so that they can decide on a final one that suits them based on proper analysis and comparison. What should
you do to meet this requirement of the client?

A. Design the enterprise structure by using individual tasks available for each of the organizations and keep changing it
until the final structure is agreed upon.

B. Create and load one enterprise structure at a time through Establish Enterprise Structure, analyze the structure and,
if it does not suit the client, use the rollback option before creating another structure.

C. Configure multiple enterprise structures by using the Establish Enterprise Structure guided flow. Analyze and
compare them by using the configuration review pages, including the Technical Summary Report, before loading the
final one.

D. Configure multiple enterprise structures and load all of them simultaneously so that analysis and comparison can be
done.

Correct Answer: C

QUESTION 9
You are configuring Enterprise Onboarding Checklists and need to ¢ to new hires during onboarding by
line managers and HR specialists.

Which Checklist enhancement supports this requirement?
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A. Checklist Category
B. Checklist Validity

C. Checklist Completion
D. Task Library

Correct Answer: C

QUESTION 10

As an HR manager in your organization, you want to categorize the hiring process as part-time hiring and
full-time hiring.

What is the correct action to take in order to meet this requirement?

A. Create two new actions and associate them with the existing action type, Hire an Employee.

B. Create two new actions: hire part-time employee and hire full-time employee.

C. Create two new actions and new action reasons and associate them with each other.

D. Create two new action types: hire part-time employee and hire full-time employee.

E. Create two new action types and associate them with the existing action, Hire.

Correct Answer: A

QUESTION 11

The line manager of an employee is also the HR manager for that employee. The Promotion approval rules state that a
transaction should be approved by the line manager followed by HR. If this employee receives a promotion, the
approval will go to the manager twice. The customer requires that when approvers repeat in the routing chain, only one
approval notification should be triggered to such approvers. What steps in Business Process Management (BPM)
Worklist should you perform to meet this requirement?

A. Change the Task Aggregation configuration to Once Per Task.

B. Change the value of Complete task Immediately When Participant Chooses to Approve.

C. Select Allow Participants To Edit Future Participants.

D. Deselect Allow Participants To Edit Future Participants.

E. Select Allow All Participants To Route Task To Other Participants.

Correct Answer: ABC

QUESTION 12
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A Human Resource Specialist is hiring a new employee in the application. While creating the employee record, he
enters personal information and employment details and, when submitting the transaction, encounters an error. Part of
the error message reads "NewPersonEmploymentApproval to
NewPersonEmploymentApprovalRules_NewPersonRuleSet failed with Business Fault: null. Check the underlying fault.
Check target SOA component for cause”. The Human Resource Specialist raises a service request with the internal
support team. What is the cause of this error?

A. The Update Person Keyword Search process must be run before hiring a person.

B. A security profile needs to be defined for the human resource specialist to hire a person.

C. The BPM task NewPersonEmploymentApproval is not set up properly.

D. The Human Resource Specialist does not have the required privilege for the New Person Employment process.

Correct Answer: C

QUESTION 13

A human resource specialist creates a checklist template with Category Offboarding and Action Termination. An
employee retires from the organization and hence his work relationship is terminated with the legal employer. However,
there is no Offboarding checklist allocated to the retired employee in the Manage Allocated Checklist region. What is the
cause for this?

A. The Allocate Checklist seeded process must be run to automatically allocate the checklist to the person.

B. Action Reasons were not defined in the checklist.

C. The Action associated with the checklist does not match the Action selected during the termination process.

D. Action Type was not defined for the checklist.

Correct Answer: A

QUESTION 14

As the HR Administrator you have decided to configure position synchronization. However, when you enter
a position on a worker\\'s assignment, all other fields that you have, synchronize default into the
assignment, except for the Grade.

What are two reasons for the Grade not defaulting? (Choose two.)

A. The position has no grades assigned to it.

B. The PER_ENFORCE_VALID_GRADES profile option is set to N.

C. The PER_DEFAULT_GRADE_JOB_POSITION profile option is set to N.

D. The position has more than one valid grade assigned.

Correct Answer: AB
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QUESTION 15

You are a Global Resources Implementation consultant and your client wants to track external training
within the worker talent profile.

What steps should you follow to create this new content type, and ensure it displays on the Skills and
Qualifications page?

A. Create a new content item, create a new content type, link the content item to the person profile.

B. Create a new content type, create content items for that type, link the content type to the model profile.
C. Create a new content type, create content items for that type, link the content type to the person profile.
D. Create a new content item, create a new content type, link the content item to the model profile.

Correct Answer: B
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